3G10-003

092287
, , . -3G10-003
o . - 1988 G CONSOLE/FLQOR . - 3
1. 10.240 PLATE,CNSLTRIM ..... e e e e 22528632
2. 10.268 LATCH,CNSLCOMPTDR .......oovuiiennnnnnnnn.. e P '. 568694
3. 10.240 TRAY, FRT FLR CNSL TAPE STOR ................. R e P 22528256
4. 8.977 SCREW, HEX TAP (M4.2X1.41X16) ................. e e - |
5. 10.268 LATCH, CNSLCOMPTDR ................... B e e 656568694
6. 10.242 DOOR, FRT FLR CNSL RR COMPT(*1) .................. DR 22525579
7. “N.S. HINGE,CNSLCOMPTDR ................ e ar ettt '
8. 10.275 LENS,CNSLBOX ....... S S e 5961151
9. 8991 BULB,CNSLBOXLP ..............ccvvun... e -
10. 10.240 PANEL, FRT FLR CNSL (DK BLU-221)(*2) ................00000 o ... 22526594
11. 10.240 PAD, CNSL BODY (DK BLU)*2) .......oovvrooonnn ] e PR 22507970
12. 8.977 SCREW, C/R WA HD (M4.2X1.41X50)PH ......... e e, 11600078
13. 10.240 BODY, CNSL (DK BLU-271)(*2) ............... e e 22507969
14. 8.977 SCREW, HWH (M4.2X1.41X20) PHOS .............. S 22536997
16. 2.480 HARNESS, A/T NEU START & B/U LPSW ..., e 12006116
16. 8.950 CLIP, DELRIN ADHESIVE .................... E e e
17. 8.921 NUT, SPRING (#8-18) ................. e e U -
18. 4.015 SLIDE,CNSLSHFT .................. e e 22607747
19. 10.242 TRAY ,ASH ....... S e P e 22528634
20. 10.275 SWITCH, FRT FLR CNSL COMPTLP ......... e .. 1244006
21. 10.262 CLIP,CNSLTRPNLTO CNSLBASE ..ottt 5686532
22. 10.242 BUMPER, CNSLASHTRAY .................. e 568629
NOTE 1: FOR ADDITIONAL COLORS &APPLICATION SEE PARTS CATALOG.
NOTE 2: PAINT TO MATCH.
© 1991 GENERAL MOTORS SERVICE PARTS 0PEHATIONS—-OLDSMOB!LE——SZW
(6-91) . 1055 - 10 000-GROUP




